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PART A ENGLISH

DIRECTION FOR QUESTION NOS.1TO 5 :
CHOOSE THE CORRECT OPTION FOR OPPOSITE VOICE OF THE GIVEN SENTENCE

1. Am I helping him?
A) Is he helped by me? B) Is he be helped by me?
C) Is he been helped by me? D) Is he being helped by me?

p When I saw her, she was crossing the road.
A) When she seen by me, she was crossing the road.
B) When she was being seen by me, she was crossing the road.
C) When she was seen by me, she was crossing the road.
D) When she saw by me, she was crossing the road.

3. Did he not listen to his teacher?
A) Was his teacher not being listened by him? B) Did his teacher not listened by him?
C) Was his teacher not listened by him? D) Was his teacher not be listened by him?

4. Who will lead the nation in the forth coming situation.?
A) By whom will the nation be led in the forthcoming situation?
B) By whom will the nation led in the forthcoming situation?
C) By whom will the nation been led in the forthcoming situation?
D) By whom would the nation be led in the forthcoming situation?

5 Why does she always make lame executes?
A) Why lame excuses always made by her? B) Why is lame excuses always made by her?
C) Why do lame excuses always made by her? D) Why are lame excuses always made by her?

DIRECTION FOR QUESTION NOS. 6 TO 9 :
CHOOSE THE CORRECT OPTION FOR OPPOSITE NARATION OF THE GIVEN SENTENCE

6. She said, "If you work hard, you will get good marks."
A) My teacher advised if I work hard, I could get good marks.
B) My teacher advises if you work hard, you will take good marks.
C) My teacher advises if I work hard, I will take good marks.
D) My teacher advised that if I worked hard, I would get good marks.

7. Principal said, "Is the librarian present today?"
A) Principal asked if the librarian was present that day.
B) Principal asks if the librarian is present that day.
C) Principal asks if the librarian was present that day.
D) Principal is asked if the librarian present that day.
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Mother said, "You must do your homework, before playing."

A) I was told by mother that I must do my homework before playing

B) Mother said to child that he must done his homework before playing.

C) Mother was requested to the child that he does his homework before playing.
D) Mother is ordered to the child that he did his homework before playing.

I said to her, "I think, you are tired."
A) I said to her that she thought she is tired. ~~  B) I'said to her that I think you are tired.
C) I said to her that I thought she was tired. D) I said to her that she thought you are tired.

DIRECTION FOR QUESTION NOS. 10 TO 14 :

10.

11.

12.

13.

14.

CHOOSE THE CORRECT OPTION FOR FILLING UP THE BLANKS WITH APPROPRIATE VERB

It was found that some students not attending their classes.

A) Were B) was C)do D) is

He around the filthy room in distaste.

A) Looked B) looking C) am looks D) is looks
We to the new house, because old house was small enough for our family.

A) Shifted B) shifts C) are shifted D) is shifted
It is necessary for the government to their people's life better.

A) makes B) make C) making D) be made
I daily wait for his call, but he not call.

A)do B) does C) done D) is

DIRECTION FOR QUESTION NOS.15TO 19::

15.

16.

17.

18.

19.

CHOOSE THE CORRECT OPTION FOR ANSWERING THE QUESTION AS HAS BEEN ASKED FOR

Be careful, there is a hive of bees on the tree. (Which word is a collective noun?)
A) tree B) there C) hive of bees D) careful

Good friends are the beauty of life. (Which word is a countable noun?
A) Friends B) good C) beauty D) are

My grandmother is good at telling funny stories. (Which word is a plural noun?)
A) telling B) stories C) funny D) good

Success seems closer to the hardworking people. (Which word is an abstract noun?)
A) close B) people C) success D) the

My father bought a beautiful mare. (Which word is a feminine noun?)
A) mare B) beautiful C) my D) father
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DIRECTION FOR QUESTION NOS. 20 TO 27 :
CHOOSE THE CORRECT OPTION FOR FILLING UP THE BLANKS

20, He pottootited ;.comsiinas over work

A) because of B) because off C) on D) for
21. Building has been built .................... the new plan

A) accordance to B) in accordance with ~ C) for D) about
22. He crossed the broken bridge ......................... warning

A) in spite of B) in spite off C)on D) about
23, Thedmini. comvevmsesons as fast as the bus.

A) went B) running C) moves D) going
24. Hewasseen........................ to the school

A) went B) going C) gone D) go
O in the sun for 1 hour.

A) sitting - B) has been sitting C) has been sit D) has sit
7. S-S it help you in your studies?

- A)will - B) was C)is D) are

3L Wi never seen such a picture before.

A) did B) was C) have D) has

DIRECTION FOR QUESTION NOS.28TO 30 :
CHOOSE THE CORRECT SENTENCE FROM THE GIVEN OPTIONS

28. A) My friend has got a new joi:. B) My friend has got a new work.
C) My friend is got a new job. D) My friend did got a new job.

29. A) Do you like a glass of water ? B) Would you like a glass of water ?
C) Would you like the glass of water ? D) Do you like the glass of water ?

30. Choose the alternative opposite in meaning of the given word. “Tarnish”

A) defame B) Clean C) Paint D) Taper

e
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Directions for Question Nos 31 to 40 :

31,

32.

33,

34.

35.

36.

37.

38.

3.

40.

In the following passage there are blanks each of which has been numbered (31 to 40). These numbers are
printed below the passage and against each four words, one fits the blank appropriately. Find out the
appropriate word against each blank.

I was born and ...(31)... up in a village by my grandparents. We had two granaries to ...(32)... the rice that we
grew. ...(33)... the better quality ‘white’ rice was kept in the granary in the front of the house, the ...(34)...
quality ‘red’ rice was kept in the granary at the back. We never had ...(35)... money in the house, so those who
came to ask for alms were given rice. My grandmother would send me to the front granary to bring rice for
them, but when she cooked for ...(36)... of us she would use the red rice. I was ...(37)...by her behaviour. One
day, I asked her why she did this ? She ...(38)... and said something I will never forget. “...(39)... whenever
you give something to somebody, give the best in you, never the second best.” ...(40)... director of a
foundation, if I help people today, it is because of this lesson she taught me. '

A) raised B) adopted C) grown D) brought

A) pick B) store C) supply D) cultivate
A) Instead B) While C) Yet D) Therefore
A) less B) worse C) defective D) inferior

A) much B) vast C) lots D) sufficiently
A) all B) remaining C) gathering D) none

A) puzzled B) confusing C) worrying D) frightened
A) pleased B) shouted C) smiled D) advised

A) remember B) pray C) memorise D) think

A) when B) since C) as D) perhaps

Directions for Question nos 41 to 43:

41.

42,

43.

In each of the following sentences, fill in the blank with the correct form of the verb given in the bracket,
choosing from the four options given below :

She for work before the children get home from school. (leave)

A) left B) leave C) leaves D) had left
By this time next year, | my memoirs. (write)

A) will have written B) wrote C) will write D) write
He non-stop for fourteen hours before he reaches France. (fly)

A) flew B) flight C) had flown D) will fly
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Directions for Question Nos 44 to 47 :

44,

45,

46.

47,

Fill in the blanks with appropriate words from the choices available :

Everyone is entitled his or her own opinion.

A) of B) to C) by D) under
The teacher cautioned the students associating with disreputable elements.

A) by B) with C) for D) against

Even though Sachin Tendulkar is endowed rare talent, he is a humble man.
A) with B) against C) for D) to

Contemporary politicians are perceived to be greedy gain by the populace.
A) for B) with C) to D) within

Directions for Question Nos 48 to 50 :

48.

49.

50.

In each question, out of the four given alternatives, choose the one which stands most appropriately for each
expression or word :

A small enclosure for cattle, sheep or poultry:
A) Pen B) Sty C) Cellar D) Disperse

A process involving favour for someone:
A) Nepotism B) Diplomacy C) Red-tapism D) Bureaucracy

A structure with historical memorial
A) Coffer B) Pantry C) Mint D) Monument
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PART B (a) General Intelligence and Reasoning in Science
ST B (a) AT & 9o 71t 3 O Ras

51. Which of the following compound is mainly used in hand sanitizer?

A) Acetic Acid B) Alcohol C) Ketone D) None of the above
Fofafad 3 3 o1 @ e verfger 9 @ g ferser & Iuar f&ar s 82
A) Tifes whis B) 3fchied C) BleH D) 378 A ®15 ot 7
52. What is the SI unit of frequency?
A) Diopter B) Hertz C) Meter D) Second
3T 1 T 31 3HTS A 27
A) SRR B) g¢d C) Hiex D) ¥4%8
53. Which of the following gland is present in human mouth?
A) Adrenal B) Pituitary C) Salivary D) Gonads
PrafafEe § @ $H < 9 79s & g & Aivg gt 82
— INEIECEE R R B) fUegedt Uiy C) AR %Y D) 54 Uiy
54. What is the other name of Newton’s first law of motion?
A) Action-Reaction B) Change in Momentum
C) Law of Inertia D) Constant Momentum
e & T & TuH o0 &1 R AW b 82
A) forar ufafssan B) YaTuiad C) STsa1 &1 fam D) fFRav "am
55. As per Newton’s Second law of motion, Change in Momentum per unit time is equalto
A) Energy B) Acceleration C) Force D) Constant
e F 70 & R T F SER, Tl $HTS THY 9T HIURadT_ & SIS gidl §
A) Sl B) @RI C)&d D) RRi®
56. What is the chemical formula of Benzene
ol &1 I 93 g
A) CeHs B) CeHa C) CsHe D) CeHs
57. What is the pH range of Acid?
35T BT pH Aoft T 27
~A)0-7 B) 7-14 C) 1-7 D) 7-15

58. Name the veins that carry oxygenated blood from the heart to other part of the body

A) Kidney B) Arteries C) Both (A) & (B) D) None of the above

I RR1ST & 7 ga5u ) sifedieiid tad #1 ged @ TR F 37 Il § & o &

A) fFsit B) et C) aHi (A) 3R (B) D) 399 A &g 1t 7t
59. Name the part of the body which most effected by the Corona virus

A) Heart B) Liver C) Kidney D) Lungs

IR F I 3T HT A0 FAST ol HRAT aRY ¥ Fa9 3 yuifad gian g

A) BT B) diaR c) fret D) b
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60.

61.

62.

63.

64.

65.

66.

67.

68.

Which of the following diseases is caused by dog bite?

A) Madness B) Rabies C) Colour blindness
fFrafafea & 4 om- mﬂﬂﬁaiaﬂzﬁ%@?n%?

A) TN B) Y& C) T ef¥gar
Which device is used for measuring air pressure?

A) Ammeter B) Volt meter C) Seismograph
qrgeTe "9 & fore farg = &1 v fean S @2

A) TR B) diee Hex C) Y&U-ga& I

What is the scientific name of humans?

A) Magniferaindica B) Rana tigrina C) Homosapiens

T 1 A1 AT &1 82

A) Bt 3fEe B) YFIfRTIRAT C) grRftdg

What is the farming practice called in which the domestication of hens is involved?
A) Pisa culture B) Api culture C) Poultry farming

U P Sl & 7 Hea § Rorad gfifal &1 are= fFa waR?

A) HeRIgTEad B) TyHaE! Ure C) giff arem

Name the part of the human body in which most of the digestion occurs?

A) Stomach B) Small intestine C) Large intestine
T YRR & I 37 &1 1 Fa1sC s gad 3 o= gar 82
A)Ue B) B 3fia C) 931 3fid

Name the fabric which is used to make bullet proof vest

A) Iron fabric B) Aluminium fabric =~ C) Steel fabric
U HUS $T 7 TS ForeT IUGRT gAe Y Wbe a1 A fbar oiran &
A) T8 BUST B) g sus  C) € Byl
Which one of the following has the highest density?

A) Snow B) Teflon C) Soil

e ¥ 2 frye o7 gad 3l 27

A) 6 B) ¢UH c) fagt

Which one has the minimum melting point

A) Titanium B) Zinc C) Uranium
fprenT eI aH BT 87

A) Trgefrm B) foi C) Wmw

Name the metal which is in liquid form at room temperature
A) Mercury B) Gallium C) Cesium
3 4T BT T IR S FN F TU R ga FUF et 2

A) URT B) iferaw C) Hifsrmg

1979_23 (A) 8

D) Scurvy
D) @l

D) Barometer

D) SRAfex

D) Homospecies

D) gHrdieis

D) None of the above

D) ¥ A 3K 7&

D) Mouth

D) He

D) Kevlar fabric

D) HaeR HUS

D) Sand

D)Yd

D) Rhodium

D) Afean

D) Diamond

D) SHHE



69. Soap creates a structure in the washing process. What is it called?

A) Micelles B) Tail C) Head D) Hydrophillic
T 9 P Ul H U TR F 31 38 I HE 87
A) e B)d 0) %S INNESIEINED
70. Name the process through which plants take their nutrition
A) Zylum B) Phloem C) Photosynthesis D) Osmosis
39 vt &1 T iR Rreds g1 Y 3o Ui 78T A €
A) SIEEH B) WilGH C) U1 LAl D) 3HH
71. What is the functional unit of kidney?
A) Neuron B) Nephron C) Cell D) Glomerulus
fret 31 fruTes soTS 71 Feawn 87 '
A) "RE B) A C) BIfRTBT D) TAHeed

Directions for Question Nos 72 :
Choose the best alternative as the answer.

IW F ¥ ¥ gad el wew 77
72. A tree always has which of the following ?
A) Branches B) Leaves C) Fruits D) Roots
s U3 & ghw Pl 3 d w2
A) TITETY B) ufrai C) ®d D) &S

Directions for Question Nos 73 & 74 :
In each of the following questions, find the missing number :

fd= (73-74):
Frafaf@a vde vy § gu SEn 31 Fife:
73.
5 6 6 7
12 21
4 5
A) 32 B) 22 C) 320 D) 14
74.

C)4 D)3
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75;

What does the word ‘amphibian’ means ?

A) Three lives B) Four lives C) Two lives D) One lives
IHIER TG BT &1 34U 87
A) @ Sitaq B) TR Sitad C) @ sfla= D) U oftad

Directions for Question Nos 76 :

76.

77

78.

9.

80.

81.

Choose the best alternative.

a9 Oet fwed g1

Cardiology : Heart : : Zoology : ?

A) Insects B) Animals C) Plants D) Germs
Fifsarail gad : : Gﬁ”ﬁﬁ; ?

AT B) T ) e D) 1T
The most abundant element is

A).Calcium B) Silicon C) Oxygen D) Nitrogen
e wreR AET & U o 9T 9| §

A) Sferrmm B) Rifer4 C) Hiefiom D) ArEgio
The largest forest which covers 25 percent of the world’s forest land 1s :

A) The Tropical Rain forest B) Taiga forest of Siberia

C) Monsoon forest D) Temperate forests of Europe

fay &1 25 Ufdrerd & YT I FER TST I B

A) Surmfeddty auf a7 B) grzafvar & emad

C) A @A D) X9 & dror a1

Aluminium salt commonly used to stop bleeding is :
A) Aluminium nitrate B) Aluminium sulphate C) Aluminium Chloride D) Potash alum

IEqad B AH F RIT AR W TR fhar ST aren Tegiifas drece:
A)Tgfaeagee B) TegHiREE Eehe C) THH wiRigS D) UleTT Tad

The hydrophilic nature of DNA is due to the presence of :

A) thymine base B) a number of hydrogen bonds

C) phosphate group D) deoxyribose sugar

BIuT F FrESihiere Ul fhae! Iuffa & FRU B &

A) YT 99 B) P% SIS 41S

C) Bidhe U D) StaifaiRIgare b1

Which of the following is used in the treatment of cancer ?

A) Physiotherapy B) Chemotherapy C) Electrotherapy D) Psychotherapy
frafefad o @ frues 3udi $IR F IuER # fdl &l &7

A) fpforaaidt B) SHHIRT C) FaaeIRd! D) TR
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82.

83.

85.

86.

87.

88.

89.

The first law of thermodynamics is simply the case of :

A) Charle’s law B) Newton’s law of cooling

C) The law of heat exchange D) The law of conservation of energy

TS BT un Far I E e

A) Tl &1 fag B) e &1 YideH Fad

C) I fafmg &1 fgm D) Sl SR&0 &1 Fgw

Motor skills are associated with which part of the brain ?

A) Frontal Lobe B) Parietal Lobe C) Temporal Lobe D) Occipital Lobe
Hiex P Aferss & e | § Haida 82

A) Yoed aF B) RiZcd A C) TWRd di| D) iidifted a
Which enzyme is present in all members of the animal kingdom except Protozoa ?

A) Insulin B) Pepsin C) Renin D) Amylase
eSS (3w P BISHR Sig T &b G Y H 191 TS H Tl STl 82

A) EgfeA B) OfRF C) XA D) THEES

At boiling point of liquids, its

A) Temperature increases B) Atmospheric pressure increases

C) Temperature remains constant D) Vapour pressure decreases

%dl & DY TR, THH

A) TIIH SGa & B) GgHSt a1d Tqdl ¢

C) aYHH RR war D) 919 2&1d HH & Sl 8

A level of atmosphere which is composed partly of electrons and positive ions is called :

A) Troposphere B) Ionosphere C) Stratosphere D) Mesosphere
TGS BI TE TR Sl I FU | g AR YD T & §F11 BNl 2, el e

A) &ryHsd B) 3AHSH C) ¥9d19 Hed D) A&HSd

The most serious air pollutant causing health hazard is :

A) Sulphur dioxide B) Carbon monoxide C) Ozone D) Nitrogen oxide
Wy & fog gieRS vad THR I ugy® 7

A) To0R SRRS  B) e AASaRe ) A D) AISgIoN HiaES
Helium is added to the oxygen supply of deep sea divers because it is :

A) less poisonous than nitrogen B) Lighter than nitrogen

C) Readily miscible with oxygen D) less soluble in blood than nitrogen at high pressure
TR W% b TArER) 3t sifaior awrs & giferam fremar sia & 791 98 :

A) TIEESH | S wedie g 8 B) A13¢Ie A gl el &

C) 3iiaiior & 1Y T A G oTell 8 D) 3= ga1d W AZeIoH $ ga- H ad & $H gadl &
With which of the following body organ is ‘pace-maker’ associated ?

A) Liver B) Brain C) Heart D) Lungs
fafafea & @ fog am%muﬂ"a AP Heifdd 37

A) TR B) afss C)gcd D) bs
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91.

92.

93.

9.

95.

96.

97.

Haemoglobin is an important component of ;

A) White blood cells B) red blood cells C) plasma

renfes &1 U Hemyy 9T &

A) W ITESIRGN  B) A W BIR@Y  C) TISAT

Anaemia is caused because of deficiency of which of the following ?

A) Cobalt B) Iron C) Sodium

it g § @ frue oft & SRU S €

A) PleTeE B)d® C) AfsTm

Who discovered X-rays ?

A) W. C. Roentgen B) Albert Einstein C) Samuel Cohen

X B G fHe B

A) =g I AdesH B) 3(cS¢ SR C) T3 FRA

What is the full form of DNA ?

A) Diribo nucleic acid B) Di nucleic acid

C) Dual nitrogen acid D) Deoxyribonucleic acid
ST FT O FTRIE?

A) SIS Yfeke TS B) 31 e URIS

C) §3@ AIFCIor TS D) ShifRiREagEas tRe

Which among the following is/are female hormones ?
(i) Estrogen (ii) Progesterone

A) (i) and (iii) B) (i) and (ii) C) (ii) and (iii)

Profaf@d & @ S1-9/A A6 s 8/8 ?

(i) TS (if) TSR (ifi) TR

A) (i) 3R (i) B) (i) 3R (ii) C) (i) 3R (iii)

Which among the following is used to treat indigestion ?

A) Antacid B) Antiseptic C) Analgesic

g ¥ Tare ¥ R Pl § 3 frge Sudn e w82

A) Teite B) e C) TSI

Which of the following cannot be beaten into Sheets ?

A) Gold B) Silver C) Potassium
Profafea ¥ & fFd deas TR @fte) & s o waa 87

A) FFT B) gt C) GrefRrm

Who invented the Centrigrade scale ?

A) Anders Celsius B) Daniel Gabriel Fahrenheit
C) William Thomson D) Wright Brothers
Ire W o1 o fasem fasan ur?

A) T AfRme : B) Sf e Tiftma BRAERE
C) faferam «img= D) J5E §&d

1979_23 (A) 12

(iii) Testosterone

D) All options are correct

D) g4t e wEl €

D) Calcium

D) Ffexraq

D) Edward Taylor

D) USdS ¢

D) only (iii)

D) &ad (jii)

D) Antibiotic

D) t@ariic®d

D) Aluminium

D) Tegriifm



98. On a clean glass plate a drop of water spreads to form a thin layer whereas a drop of mercury remains almost
spherical because :
A) Mercury is a metal
g B) Density of mercury is greater than that of water
C) Cohesion of mercury is greater than its adhesion with glass
D) Cohesion of water is greater than its adhesion with glass
B B T WP W R I B I 48 Bad: U Tac IR 5 Sl & w6l IR Bl G §g T NeldR Tdl
2 i : :
A) URT U oG 8 Gt
B) UR &1 9-Icd U & Ui ¥ 34T gl &
C) IR &1 U Fid & Y IT o F 4frs Sar e
D) il $1 U Hid & T 3P e § 3f® dar g

Correct

99. Which of the following is a consequence of inflationary price rise ?

A) Obstacle in development B) Increase in economic inequalities

C) All of these D) Adverse effect on the balance of payment

5 7 & T GEReiRer 4w 9fg &1 uRom 22

A) fawra & arenr B) onfe srawmiansit & ofg

C) ot D) Y YTaH W Ufigd THId
100. Hind limbs thumping on ground by a rabbit is a behaviour related to :

A) Courtship B) Preparation for a duet

C) Warning signal to members D) Surrender to a stronger opponent

U T BT TGS & U B llH W des by gaer F Gefda &:

A) HEEY B) ¥"ia & fog aardt

C) TS| B! It Goba D) T dlcbaar Hidge! & S SHEHYU
101. The main component of Gober Gas is :

A) chlorine B) hydrogen C) ethylene D) methane

MR 9 1 J07 ¢ &

A) TARH B) BIEgioH C) TRy D) #a=
102. Which one among the following is the major constituent of soda lime glass ?

A) sodium oxide . B) calcium oxide C) calcium carbonate D) silica

FafefEd & 3 o1 91 SeT aes R 1 Y TP 87

A) e femgs B) HfxrW offdiss  C) Sicwuw SEe D) fiferet
103. Silver ware turns black after a period of time due to formation of —

A) nitrate coating on silver B) sulphide coating on silver

C) chloride coating on silver D) oxide coating on silver

=id! 1 S U T 90 & ¢ [5ua! 1Ra 984 % HRU Hre & ol ¢ -

A) Ticl W A8E Bt IRd B) Tidl R HehIgs &I Rd

C) 91l R FRES $1 WA D) 9idl R 3HigEEs &l Wa
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104. The gas which emerges during the volcanic eruption is :

A) hydrogen B) nitrogen C) chlorine D) sulphur dioxide
BeaR FH @ 7 e

A) TESSH B) EceH C) FARH D) IR SEHES
105. Which of the following is used as an antifreezing substance in the self starting engines 7

A) Propyl alcohol B) Ethanol C) Ethylene Glycole D) Methanol

ﬁﬁ@aﬁﬁﬁﬂmmw—wmﬂwﬁmmﬁmﬁmﬁmm%

A) DUET epIEd B) 3341 C) TR Ese D) Ay
106. The density of the water in maximum at :

e 1 I 1P AT IR Bl &:

A) 100°C B) +4°C C) 0°C D)-4°C

107. The substance which is frequently used in the photography is

A) Silver Nitrate B) Silver bromide C) Sulphuric acid D) Citric acid

PR 3 S T 1 are T

A) RyeR A15ge B) e SHES C) Ierfk® RS D) Ufe® TS
108. The chemical substance which is easily soluble in water is :

A) carbon B) nitrogen C) ammonia D) iodine

2 et Terd o o F S ¥ e &

A) BT B) AISCIeH C) mfar D) TS
109. The gas used to fill up the tyres of the aircraft is :

A) hydrogen B) helium C) nitrogen D) neon

JRAH & 2Tt & Y 11 N R SR 8

A) BTRSISH B) giferad C) Az p)
110. The gas releases through the septic tank is :

A) methane B) ammonia C) hydrogen D) nitrogen

A ¥o A PRPar ach T &

A) Hi= B) AN C) TRZISH D) RS
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PART B (b) : Basic Accounting Principles
T B (b) : AW AWl (&I

51.

52.

In accounting, profit prior to incorporation is treated as

A) Revenue Reserve B) Capital Reserve
¥ &, GG & U P 1Y BT T S ©
A) TS BN B) Yufi H1W

Receipts and Payments Account is prepared by
A) Manufacturing concerns

C) Trading concerns

e U AT @I e g1 daR faar S 8
A) Rfufor S

C) Secret Reserve

C) T N D) 9 HY

B) Non-Trading concerns

D) Companies registered under Companies Act, 1956

B) R-aymuiie Hufdi

C) T Hufai D) $uet fifaH, 1956 & e Usiipd Uil
53. Owners equity stands for

A) Fixed Assets minus Fixed Liabilities. B) Fixed Assets minus Current Liabilities.

C) Total Assets minus Total outside Liabilities D) Current Assets minus Fixed Liabilities.

it sfedt w13 B

A) 3= uRaftat vera Fifa daang B) g UREURMI 9eTd IdHM addrg

C) pa uRwuftwl gerd $d T Fand D) gaHF uRkEufat ver Fidd daang
54. Which of the following will result into sources of funds?

i) Increase in current assets ii) Decrease in current assets

iii) Increase in current liabilities iv) Decrease in current liabilities

Codes:

A) (i) and (iv) B) (i) and (iii) C) (ii) and (1ii) D) (ii) and (iv)

fProfifed # 9 57 49 & al § g grm?

(i) IA ufvEutal & 3fe (ii) gemT ufeEafual | S

g);'énméﬂarhﬁﬁq@ (iv) I SAeIal # HH

A) i) IR (iv) B) (i) 3R (iii) C) (i) 3R (iii) D) (i) 3R (iv)
55. In marginal costing, contribution is equal to

A) Sales — Fixed cost B) Sales — Profit

C) Sales — Variable cost D) Sales — Variable Cost + Fixed cost

it T e J, TTer fFed SR ¢

A) st - Ffga arma B) fawt — @M

C) faet - uRad-g arrd D) faet - aRadig anra + ffEa arm
56. The funds available with a company after paying all claims including tax and dividend is called

A) Retained Earnings B) Net Operating Profit C) Capital Profit D) Net Profit

PR 3R ATHIS TrRd T rdl BT AT FR P §1E TP B U Suwe YRI e ¢

A) ufautiia smg B)gG UREeF @™ C) Yoilrd @ D) Y& H
1979_23 (A) 15
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5.

59.

60.

61.

ABC Ltd. has declared 40% dividend. Which one of the following does it mean?
A) The company will provide dividend 40% on paid-up capital.

B) The company has declared 40% of profits after tax as dividend.

C) The company will provide dividend 40% on issued capital.

D) The company has declared 40% of net profit as dividend.

TSR RIS 3 40% e it e 31 PR 3§ weet s aw &2

A) SO el Yol TR 40% TTHIR W B

B) U 3 X SN 3 TG TH BT 40% I S e &1

C) Hut Y Yo TR 40% TTHI TEH HR
D)Wﬁ%ﬂiﬂﬁm%mmﬁm%l

The main objective of Accounting Standards is

A) To prepare the accounting reports which is easily understood by common man.

B) To harmonise the diversified accounting practices.

C) To comply with the legal formalities.

D) To comply with the requirements of the International Accounting Standards (IAS).

G S| P T Fe §
A)mm@mamﬁmma@mmmﬁm
B) fafary Sran usfrdl &1 GrisR HIT

C) S SuRearsll H1 e S

D) SfeRigi e AT (STTE) 1 SHTaRawarefl BT 3T ST

Income and Expenditure Account of non-profit organisation is a

A) Real Account B) Representative Personal Account

C) Personal Account D) Nominal Account

IR WG BT A AR T Wl &:

A) FRfad Gr B) ufafAfl safemra @

C) feTa @ D) $14-30 Wil

The presence of fixed costs in the total cost structure of a firm results into

A) Financial leverage B) Operating leverage  C) Super leverage D) None of the above
T B 3 el T SR R a9 & aar oo 8 g

A) o @ B) uR=eH @M C) R a™H D) 3R A B i T
“The cost of capital declines when the degree of financial leverage increases.” Who advocated it?

A) Net operating income approach B) Traditional approach

C) Modigliani-Miller approach D) Net income approach

R Ty 5 T e TR et @8t T AR ot 81 e e @ T um

A) I uRare 3 R B) TYURTTA eI

C) Aiftfaem-feR e D) I& 3G RSB
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Ve

62.

63.

65.

67.

A view that the dividend policy of a firm has a bearing on share valuation advocated by James E. Walter is
based on which one of the following assumptions?

A) Return on investment fluctuates. B) Cost of capital does not remain constant.

C) Retained earnings is only source of financing. D) All the above.

7 3R &t Bd 3 aniix A &7 9 £ 9o’ gRT 9d1T Y R Hedic W THE ISl 8, Fafiied § 9
o yRUm TR ST 27

A) 3 R Aot # IaR-wgE BT 81 B) Uit @t @FTd fRR 76T et &1

C) ufarenfya 3 & faauiwur &1 THaE 9id g1 D) SWiad a4t

SDRs are popularly known as

A) Currency Notes B) Silver Coin C) Paper Gold D) Gold Coin
THSIR B T AR TR 5 1 & 1 &irelt 87

A) B AeE B) e &1 Ryge1 C) TR s D) 911 &1 Ryae1
The Securities and Exchange Board of India was not entrusted with the function of

A) Investor Protection. B) Improving the earnings of equity holders.

C) Promotion of efficient services by brokers. D) Ensuring Fair practices by companies.

YR wfayfa ok g 61 & o @ o 98 o mr

A) s e B) 3f&dt YRS & HHR & YR a1

C) SaTdl gRT HRIA a1l I qgrar &1 D) Hufal gRT Ifad SR gAfEa &A1
Under capital gains head of the Income Tax Act, the income from sale of Household Furniture is

A) Taxable Income B) Capital Gain C) Revenue Gain D) Exempted Income
Mg RIFIEH S Ysid A 7S & a8, TRe bR 3 fw! 9 219 areh o @

A) BRI 3T B) Usit @y C) TeId TTH D) B¢ U 3™
If the spot price is higher than the strike price in a call option, it is referred to as

A) At-the-money B) In-the-money C) Out-of-the-money D) Premium
TR Pia HTwH ¥ Wie o ¥RE o0 3 3fde &, A @ s o g

A) Te-g-TH B) 37-G-HA1 C) 3HT3C-3HB-g-HA D) tiftraw
Social Balance Sheet shows

A) Social costs B) Value of employees of the organisation

C) Social revenues D) All of the above

FmIH g 97 feamar &

A) IS @ B) ¥T6 & HHAIRAl BT I

C) HTHIf® Ierd D) SWiad ¥+t

Venture capital financing at starting stage is generally not done through

A) Deep discount bonds B) Debt instruments

C) Equity shares D) Conditional loans

TRy srae # IoH Yo fimao o iR W feaes Arerw @ e fobar W @

A) 3g fEwprde sig B) U1 91EH

C) 3t R D) |1 BT
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69.

70.

71.

72.

73.

The transfer by a-company of one or more of its business divisions to another newly set up company is called

A) Demerger B) Merger C) Equity Carve-out D) Disinvestment
TS U GRI AT TS AT TP A mmmmmqﬁwﬁam&rmwm%
A) faea B) faaa C) 3ftht FTd-33e D) fafaw

Public Enterprise is defined as

A) An organisation run by joint efforts of Centre and State Governments.

B) An organisation which caters to the needs relating to public utilities.

C) An organisation owned and managed by public authorities for definite set of public purposes.

D) An organisation in which capital is invested by public.
ﬂﬁﬁrﬁﬁmaﬁ%@mﬁuﬁﬂmw%

A) B R T AR F VYR TR & FIerd T Hre |
B)qawﬁﬁqﬁmﬁaianﬁﬁmﬁﬁﬁaﬁaawﬁfaﬁ AT
C)ﬁf%amﬁﬁfﬁﬁamasfmqﬁaﬁmu@wﬁm 3R y&fdd U@ el
D)wwmmﬁdsﬁwmﬁamaﬁaﬁﬁ%l

Consider the following items:
(i) Debentures (ii) Prepaid rent (iii) Interest accrued (iv) Bank overdraft
Which of them are current liabilities?

A) (i), (ii), (iii) and (iv) _B) (iv) Q) (i), (iii) and (iv) D) (i), (ii) and (iii)
Pfifed 76l R R oL

() &= (if) gdga faman EIEEEIS (iv) ¥ ARG
I Y P @ gdqH SHaRat 77

A) (), (i), (i) MR Gv)  B) (W) C) (ii), (iii) 3R (iv) D) (i), (ii) 3R (iii)

In India, the Commercial Banks are given license of operation by

A) The Government of India B) The Ministry of Finance
C) Banking Companies Regulation Act, 1949 D) Reserve Bank of India
A, Ao ST B T B A B UEH Bl ¢

A) HRd HR : B) faw d=ed

C) AT S+t faframa sifafam, 1949 D) ¥Reg Rod s

The provisions of General Reserve in Banking Companies are made keeping in view the provisions of
A) Banking Companies Act, 1949 B) Indian Companies Act, 1956

C) SEBI Act, 1992 D) Statutory Auditor

Pt YA ) e T g ST ufdl H WHT I SR I

A) ST Ut 3iffEH, 1949 B) HRdg St sifafam, 1956

C) et afafgH, 1992 D) Juifes a1 uliee

1979_23 (A) 18

-



icalled

74.

76.

What does a high payout ratio indicate?

A) The management is not ploughing back enough profit.
B) A High Earning Per Share (EPS)

C) The management is ploughing back profit.

D) The company is earning high profit.

I T 3UTd 1 S 87

A) Y'Y Tae a8 & U1 361 3

B) Wfd TR 3= 3 (34iEw)

C) WaeF AT S T BT B

D) 3T I= aH FHE R

Reconstruction of a company takes place when

(i) The company is undercapitalized

(ii) Company has incurred heavy losses which must be written off
(iii) The company is overcapitalized

Which one of the following is correct?

A) (i) and (it) only B) (i) and (iii) only C) (ii) and (iii) only D) All the above
& $UH! BT GAFHI 79 gl § 99
() SO 4 Yefiepal @

(i) FOT BT YR THAH g § o8 92 W1 & Sren o €
(ili) BT TP Golipd &

Frofafed ¥ @ 1 9 v o 7

A) Fad (i) AR (i) B) &ad (i) 3R (iii) C) Fad (ii) 3R (i) D) IWiad Tt
In India, which of the following is prepared on the guidelines of AS-3 (Accounting Standard — 3)?
A) Balance Sheet of a Company B) Cash Flow Statement

C) Funds Flow Statement D) Consolidated Financial Statement

YRd # Fafafd & ¥ -3 @@ ame-3) ¥ wn-AEsit w agR far s g?

A) UF $UHl &1 ge 0 B) e UaTe faavor

C) fAfRr varg faaror D) FafFd f<ita faaw

The main effect of inflation on the financial statement is

A) Profits are understated B) Overstatement of Assets

C) Erosion of capital D) Adequacy of funds for replacement of assets
fareli faavo R gy 1 qEr wva @

A) GAT B HH S AT il & B) uREufRdt @1 srafiies Sarar s

C) Usft &7 &R0 D) ufkuftiat sgem & e = =+t wafwar
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78. Balance of Payment includes components
A) Revenue Account, P & L Account, Capital Account, Official Account
B) Current Account, Capital Account, Unilateral Payments Accounts, Official Settlement Account
C) Trade Account, Activity Account, Revenue Account, Currency Account
D) Forex Account, Trade Account, Funds Account
AT 30 H SH-PIH § Uee WA §
A) or @, o S T e, Yoh @i, ifeie @
B) =T @, GST W, ThaRpT 7T T, e Foer @
C) TR @rell, Tfafafd AT, IS @il FeT Fell
D) fdeht g e, AR @, e
79. The commercial banks do not perform one function out of the following:
A) Mobilisation of savings B) Issuing Currency Notes
C) Giving Loans and Advances D) Financing Priority Sectors
Ao So Peffad § 3 16 S/ 8 Hd 6
A) F9d BT GBI B) el A &Rl Sl
C) 0T 3R YR & D) Trufiyehar &1 P faarsor
80. One of the items is not related with e-banking:
A) SPNS B) Demand Draft C) ECS D) ATM
7 Ao A § 7 3-3TT Q TR T &
A) THUITITH B) féwis g C) $HieH D) TéTH
81. Which one is not the form of FDI?
A) Purchase of existing assets in foreign currency B) Making investment in the mutual funds
C) New Investment in property, plant, equipment D) Transfer of many types of assets
=70 Y P T UHSINTE F1 E T 87
A) fa g & dieger uRwuREl 1 @die B) FEd B # (a9 &1
C) Hufy, Fa=, Jueor & a1 e D) &% YR B uReufrd] ST gyl
82. Which of the following is not a capital asset under capital gains head of income?
A) Jewellery B) Goodwill of business
C) Agricultural Land in Delhi D) Stock in trade
PR & Y S T 37 3 Yol @ 7E  aed ot aReEuf e &
A) 3THEUI B) STUR B! Fgra Tl
C) feeeh A i A D) &R H €I
83. Which one is not the main objective of fiscal policy of India?
A) To increase liquidity in the economy
B) To promote price stability
C) To minimize the inequalities of income and wealth .
D) To promote employment opportunities
WRT F TSP A BT T ST - TN 67
A) oyt § aRerdl Sl
B) §ed R 1 Fgrar &1
C) 3 3R 4 BT SHATS Bl HH FA
D) AR F HaERT B TG
1979_23 (A) 20




84. Which one of the following concepts is used as fund in the preparation of Funds Flow Statement?

A) Current Assets B) Working Capital
C) Cash D) All Financial Resources
ffey T fraRor FoR o & Profifd § @ fbg smuron & R % w0 & udn fEar o g?
A) gdam ufkEafrai B) SrIia ot
C) 9Pe D) Tt faitg ware=
85. Which method does not consider the time value of money?
A) Net Present Value B) Internal Rate of Return
C) Average Rate of Return D) Profitability
-9 Y g1 & 990 g W faeR 78 el 87
A) IS I09H g9 B) 3R Wfawd &
C) 3Md ufawa &R D) aTHwEar
86. Which one among the following has not started Commercial Banking?
A) IDBI B) SIDBI C) ICICI D) UTI
Prafifad # 3 fera affcs ST gE T ot 32
INELESCIEIE B) Rrea C) 3msHtemsHtans D) getars
87. Which of the following is ‘true’ regarding the Prudence Principle of Accounting?
A) Taking care of the future losses B) Taking care of the future profits
C) Taking care of bad debts D) Taking care of inventory and depreciation
T & e fRigia & gdy A PoffRa A I s o v 32
A) 4TS & JHaH BT &H &G B) Hfq® & AT HT &A1 T@T
C) 3ied FBUN BT e TG D) A 3R GedgT &1 & 3G
88. Which of the following is a non-operating expense?
A) Salary of Managing Director B) Depreciation
C) Advertisement expenditure D) Interest on loan
Prafefaa & & o a1 R-uReErH o1 37
A) WaY e &1 a4 B) HeUe™
C) faqu =03 D) U IR &76l
89. Call money rate is applicable for a very short period to
A) Reserve Bank to Bank advances B) Bank to Reserve Bank advances
C) Inter bank advances D) Commercial Banks to Industrial Banks advances
el T <% 9gd A 4af & foe frg W amg g g
A) Rerd 3 gr1 % & @ ¥ 3ifdm T B) ¥ g1 feord §& &1 §t 7% 3w Il
C) d%1 & ey &} 7E 4 Ay D) Jiftifoyes d! gRT e o 1 & 715 i T
90. The present value of the future contributions of employees is one of the methods of
A) Inflation Accounting B) HR Accounting
C) Social Accounting D) Responsibility Accounting
FHaial & ufass % areF &1 adiH 0w U A 3
A) TErEpifa dEn & B) TI3R a@l Bl
C) I Tl Bt D) forierd ot i
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91.

92.

93.

94,

9s.

Mutually exclusive projects can be more accurately ranked as per

A) Internal rate of return method B) Net Present Value Method

C) Modified Internal Rate of Returns Method D) Accounting or Average Rate of Return Method
TR U R 3 TR B e R i Wi w0 & ¥ b o Fdr

A) 3fiafve wfawa o fafy B) Y dauH Heu fafy

C) Seifia sriafe wfawd o fafy D) dEiH 1 31 ufeee o fafy
PIN in banking transaction is known as

A) Personal Identification Number B) Permanent Identification Number
C) Postal Index Number D) Public Interlocking Numeric
e At A e Frd e o @

A) THq S i e FaR B) RAME HZSRfBHIA AR

C) URed $8& AR D) uftie Sexaiien GRS

Which of the following deductions will not come under Sec. 80 of the Income Tax Act?

A) Deduction in the case of a person with disability

B) Deduction for interest paid on loan taken for pursuing higher education

C) Deduction for repayment of any instalment of principal amount borrowed for the purchase / construction |

house property
D) Deduction for interest on loan taken for the construction / purchase of house property

Rahiad 3 @ F @ Herd e AfFEH P YR 80 F faria Tel S

A) fasai safd & wme o Bl
B)ﬁmmﬁmmwwwwﬁmmma?mm
C)maﬁﬁqﬁaﬂaﬂa/ﬁﬁmﬂ?mmaﬁﬂ%wmaﬁmmmﬁgﬂrmﬁ%mm
D)qwuﬁlasﬁnfmfﬁﬁﬁ?mﬁmﬂqmmm%mm

In the call/notice money market, which of the following participants is allowed to trade?
A) All Banks, Primary Dealers and Mutual Funds B) Only Commercial Banks

C) All Corporates D) All of the above
aﬁafﬁﬁﬂﬁmﬁ,ﬁmﬁ%ﬁmuﬁwﬁaﬁmwaﬁm%
A) T ¥, aruftye e iR T s B) ¥ad NS &

C) gt BIaRe D) IWiad g1t

Insurance expenses paid to bring an equipment from the place of purchase to the place of installation is a ty]
of

A) Deferred revenue expenditure B) Capital expenditure

C) Revenue expenditure D) Operating expense
wmﬂaﬂz%m%mﬁ%wmaﬁ%ﬁmwﬁmwmmwm_%
A) ITRIFTT I5d g B) GuilTd o0

C) TS &4 D) uftareH =g
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96. In case the projects are divisible under capital rationing an appropriate project appraisal method is

A) Net Present Value Method B) Internal Rate of Return Method
od . C) Profitability Index Method D) Payback Period Method
@W%mﬁwﬁ%ﬁmﬁ%%ﬁwmmmmﬁ
A) I gaaE g fafy B) 3fiaite ufawd o fafy
C) THvEd Yadie fafy D) @y 3afy fafy
97. Permanent working capital is generally financed through
A) Long term Capital Funds B) Government Assistance
C) Internal Financing D) Short term loans from Banks
i S o @1 fausor arre: fhad gRT T S €2
A) Srafafdy deft fAf B) TN Gerddl
C) 3fafve faw aiwor D) ST ¥ Sfearafy B0
98. The appropriate ratio for indicating liquidity crisis is
A) Operating ratio B) Sales turnover ratio  C) Acid test ratio D) Current ratio
TR e B ERd B F Y SUgER SJUE §
Struction ( A) uRETe U B) e $RIER U C) TRYS uiefur 3rqura D) T U

99. Section 131 of the Negotiable Instruments Act extends protection to the
A) Advising Banker B) Paying Banker C) Collecting Banker D) Confirming Banker
et ferad e @t URT 131 B YR USH B §
A)TEEIITAIF  B) WA S AQA 9T C) TR $A Tl 4% D) gf¥ A a1 §HX

100. Flow of foreign loans and investments affect

A) Trade balance B) Current Account balance

C) Capital Account balance D) None of the above

et 501t @1 e iR P Tifd el Ra €

A) IR Y B) e @il WY

C) Uit @ AW D) Sudad & A HIE 7

101. Which of the following comes under efficiency ratios?

A) Average collection period B) Inventory turnover ratio
is a typ C) Fixed assets turnover ratio D) All of the above

Praffd & & & qafaT SFUTd F Sfaid 3T 87

A) 3d agat erafy B) 3¢l HRIER U

C) 3r=e iUl HRIER U D) SWiad |+t

102. Which one refers to cash inflow under payback period method?
A) Cash flow before depreciation and taxes B) Cash flow after depreciation and taxes
C) Cash flow after depreciation but before taxes D) Cash flow before depreciation and after taxes

a3ty R & ded T vare feud 3fa g g2
A) U8 3R F 4 Ugd Adal Hae B) TeUeH AR T & §1G THal WaT®
C) HeUsTg ¥ aIE Afp B 4 Ugd THal HaTe D) HeeTE & Ugd 3R FRI & «1G TPl Y6
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103. Cost of capital from all the sources of funds is called

A) Composite cost B) Specific cost C) Implicit cost D) Simple Average cost

o B Gt it & geht B AT Heand

A) §HY @RI B) fafy arr C) siafifed @rrd D) T Ad arTd
104. Which one of the following statements is true?

A) Capital expenditure does not affect the profitability of a concern but revenue expenditure does.

B) Capital expenditure affects the profitability of a concern directly but revenue expenditure does not.

C) Both capital expenditure and revenue expenditure affect the profitability of a concern directly.

D) Capital expenditure affects the profitability of a concern indirectly but revenue expenditure affects directly.

Profifed § @ B1F 9 Y7 94 87

A)WWWMaﬂmaﬁwﬁaaﬁm%ammmm%

B)WW@Maﬁmmﬁ%ﬁﬁmnﬁﬁm%meaﬁm%l

C) Usiird o 3R IoTe o 2T U S B A B wuifd 34 €

D) GeiiTa 334 m&rwﬁwmwaﬂmﬁmm%aﬁmmmmmm%
105. The degree of financial leverage reflects the responsiveness of

A) Operating income to changes in total revenue B) EPS to changes in total revenue

C) EPS to changes in EBIT D) None of the above

faig @M &Y 7 @ argfbua & axfar g

A) Fe Tord 3 ufadH F i aiEre o B) T Yo & aRkada & ufd ST

C) Setemsd # uRad= & ufa $died D) Iuded & J I 7o
106. Which one is more appropriate for cost of retained earnings?

A) Weighted Average Cost of Capital B) Opportunity cost to the firm

C) Expected rate of return by the investor D) None of the above

ftrenfed 3T &) @R % g B a1 oifire IugH 87

A) Uoht & i ofred arTd B) BH &1 {TE AN

¢) Fdwe gr smifdd ufdwd D) Iudad H A PIE 6!
107. The success of E-banking depends upon:

i. Multi-layer Security System ii. Risk and Surveillance Management

ili. Updated Flawless Softwares iv. Stringent Legal Frame-work

A)iand ii B) i,ii, and iii C) ii, iii, and iv D) i, ii, iii and iv

£ 3fp 3 gad R A &

i, e AR GR&T WOl ii, SR 3R AR Tee

iii 3RS FERMRd TivedaH iv. HOIR ST el

A)i 3R i B) i, ii, 3R iii C) i, i, AR iv D) i, i, iii 3R iv
108. Which one of the following does not constitute a Standalone Risk Analysis?

A) Simulation Analysis B) Break-even Analysis C) Corporate Risk Analysis D) Scenario Analysis

AR & & o @ ST SIEH ATl &1 767 Tl Hd1 &7

A) Rgaiee fa=ewor B)3F-Sa REawor  C) PiURe sifeH e D) ufteey e
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109. Financial leverage in a firm is positively affected by

A) Operating leverage B) Intensity of tangible assets
C) Profitability D) Tax Rate
T T A e T TSI T Y HIfRd B €
A) TRETeH @ R B) ¢t uftwufedl & diedl &R
C) ATHIET g D) R & W ERI
110. Dividend irrelevance hypothesis is implied in the
A) M.M. Model B) Walter Model C) Gordon Model D) Traditional Model
At SifTEaT aftdedT fre e §
A) THH. Aisd B) dleex Alsd C) A Higd D) URUR® AlSd
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PART C : Quantative Aptitude (Arithmetic)
$TTeT C : ATATHS AfNaTHaT (3HAfore)

111.

112.

113.

114.

115.

116.

117.

Rakesh Yadav spends 18% of his income on food and education, 25% on house and transportation, 24% |
insurance and he deposits 20% in the bank. If he is left with Rs. 19500 then find his total income.

T T ST ST BT 18% Mo AR e W, 25% W R aRae |, 24% ST TR G B ¢ IR 20% S
S ERA | SR G U 19500 T & € ot ST T (1 il HIfog|

A) 1,00,000 B) 2,00,000 C) 4,00,000 D) 1,50,000

A dishonest shopkeeper pretends to sell his goods at cost price but uses false weights and gains 11%%. For
weight of 1 kg he uses :

A) a weight of 875 gm _ B) a weight of 900 gm C) a weight of 950 D) None of these ]
wmwﬂmwﬁmnﬁmaﬁmﬁmm%ﬂ%ﬁﬁwarmm%&

11§%wwm%l1Mam$maﬁsﬁnmm%:
A) 875 UTH B EIC B) 900 ITH &1 &TE C) 950 I FT IC D) S A B o1

The value of a single discount on some amount which is equivalent to a series of discounts of 10%, 20% an
40% on the same amount is equal to :

Rt THT IR THE ge BT Ged 1 51 O I IHH W 10%, 20% 3R 40% P} T B YT S TR &:
A)432% B) 50 % C) 56.8 % D) 70 %

A certain amount becomes Rs. 4630.50 in 3 years at 5% per annum compound interest, find the amount.
A) Rs. 4400 B) Rs. 4200 C) Rs. 4000 D) Rs. 4110

e Ffda TR 5% ufe oY Twfe e | 3 e & 4630.50 FUA B Sl 7, TR F1d B

A) 4400 399 B) 4200 ¥U0 C) 4000 ¥4 D) 4110 304

What will be the compound interest on Rs. 10000 for 3 years, when rate of interest for first year is 4%, f
second year is 5% and for third year is 6% ?

A)Rs. 1575.20 B) Rs. 1570.20 C) Rs. 1550.20 D) None of these

10000 T W 3w$mam@mww,mqsﬁm$mmm4%%,§@m$m 5% 3
R T & for 6% &7

A) 1575.20 ¥ B) 1570.20 ¥04 C) 1550.20 94 D) SH I IS Tal

The difference between compound interest and simple interest at the same rate on Rs. 5000 for 2 years is Rs
72. The rate of interest per annum is :

5000 TUA TR 2 TTel B FeTT THH &R TR ik I 3R WURY SIS & S P IR T 72 T00, s TH R 2
A) 6% B)8 % C) 10 % D) 12 %

A man loses Rs. 55.50 yearly when the annual rate of interest falls from 11.5 % to 10%. His capital is :

A) Rs. 3700 B) Rs. 7400 C) Rs. 8325 D)Rs. 11100
T STeH T 55.50 TR a1 3 8, e A Tl &% 11.5% ¥ fRa] 10% B et 81 I9H g@ o &
A) 3700 30T B) 7400 93 C) 8325 %98 D) 11100 ¥0
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118.

1,
lgﬁa. For

2 3
121.
, 20% an
122
123.
s 4%, fo
5% o 124,
pars is Rs
125.
TS &R &

119.

120.

126.

In what time will a sum of money doubles itself at the rate 20% per annum (p.a.) simple interest ?

A) 10 years B) 5 years C) 2 years D) 4 years
e THY T B MR 20% W a8 & VYR I B & A S 81 SIgr?
A) 10 9T B) 5 9T C) 2 9™ D) 4 91

The ratio between two numbers is 3 : 4, If each number is increased by 6, the ratio becomes 4 : 5. The
difference between the number is :

21 BT BT U 3 : 4 B, AR TS T # 6 B g X & WY, A T 4 : 5 B WAl &1 HAA P S BT
IR E:

A)1l B)3 06 D) 8

In a mixture of 60 litres, the ratio of milk and water is 2 : 1. If this ratio is to be 1 : 2, the quantity of water to be
further added is :

A) 20 litres B) 30 litres C) 40 litres D) 60 litres
60 Ttex  Fwor &, gy 3R TR T U 21 1 21 Tf TE ST 1 : 2 HAT R, A oA T AR v L
A) 20 e B) 30 @fex C) 40 @R D) 60 diex

If m is proportional to n and m = 5 when n = 4, then what is the value of m whenn=187?

AR m, n P TAYRE & MR n = 48R m = 58, A n = 18 T TR m ST AH I EFM?
A)20 : B)22.5 C) 24.5 D) 26.5

Ifa:b=3:5andb:c=7:8then2a:3b:7cisequalto:
Uﬁa:b=3:5@?b:c=7:8?ﬂ2a:3b:7cw%
A)42:105:320 B) 15:21:40 C) 6:15:40 D) 30:21:350

Out of three numbers, the first is twice the second and is half of the third. If the average of three numbers is 56,
the difference of first and third number is :

A Tl # @, Teeh GEm gud gen ) g § R el wem @ ot 31 e i wemsht @1 o 56 8, A
TEeh SR TR T &1 SR B

A) 12 B) 20 C)24 D) 48

If the arithmetic mean of 6 numbers is 45, what is the total sum of these numbers ?

A) 27 B) 45 C) 65 D) None of these
e 6 TN BT SO TeT 45 B, A g7 TEmaH 1 A e 87

A) 27 B) 45 C) 65 D) ST A B el
Average of two numbers is 6.5 and square root of their product is 6. What are the numbers ?

A)3and 5 B) 9 and 4 C) 10 and 3 D) 11 and?2

3 T3 T 3T 6.5 & IR IS U 1 HNE 6 7| T 1 87

A)3 3R 5 B)9 3R 4 C) 10 3R 3 D) 11 3R 2

How many men need to be employed to complete a job in 5 days, If 15 men can complete %rd of the job in 7
days? _

e 15 AT 7 R A U B BT 1/3 UM IR TS § S B B 5 Al F G A & g fope T bt FH R
T P HALIH 87

A) 20 B) 21 C) 45 D) 63
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127.

128.

129.

130.

131.

132.

A does half as much work as B in three-fourth of the time. If together they take 18 days to complete the work. 1§
how much time shall B take to do it ?

A) 30 days B) 35 days C) 40 days D) None of these

A - T H B | 1Y B FIAT ¢ o 2 PR SY P A W HA X 18 RAPT T AL, ABH

o A A fepen wwa A

A)30fE B) 35 fa C) 40 f&A D) =98 A I TG

6 men and 8 boys can do a piece of work in 10 days while 26 men and 48 boys finish it in 2 days, 15 men ané
20 boys will finish it in :

A) 4 days B) 5 days C) 6 days D) 7 days

6 ol 3R 8 TSP TH H BN 10 R F I W ¢, T&(F 26 et 3R 48 TEH 8 B 2 3T H PR FDA &
3t 15 ameh 3R 20 TS d€ B o & & T P2

INDALS B) 5 f&a c)6feA D)7 A

A, B and C completed a work costing Rs. 1800, A worked for 6 days, B work for 4 days and C work for 9 days.
If their daily wages are in the ratio of 5: 6 4 how much amount will be received by A ?

A) Rs. 800 B) Rs. 600 C) Rs. 900 D) Rs.750

A, B 3R C 3 1800 TUR P ARIA arell Teb BH T b A3 6 e o e, B X 4 e v fran ofR c A 9 fed
7T e Of SR SR oGl 5: 6: 4 F U A B Al A Y ) 3ad firct?

A) 800 ¥UT B) 600 39 C) 900 ¥TY D) 750 T0d

A, B and C can do a piece of work for 6750 rupees. If they all work together they can finish it in 8 days. A and
B can do the work in 12 days working together. B and C can do it in 13% days working together. Find their
respective shares,

A) Rs. 2700, Rs. 1800, Rs. 2250 B) Rs. 2700, Rs. 1600, Rs. 2450

C) Rs. 1800, Rs. 2700, Rs. 2450 D) Rs. 2700, Rs. 2450, Rs. 1800

A, B 3R C TH HTH $I 6750 U3 H HX Fbd ofy 3 T U WY T B o 4 T8 8 At & @ R S B
A 3R B T U1 1 HT g 12 RA A TH W AR ISA 1 B R C TF WY P B U 133 RA TR
A) 2700 ¥R, 1800 TG, 2250 T B) 2700 $UJ, 1600 T, 2450 TT

C) 1800 TR, 2700 FUT, 2450 T D) 2700 ¥, 2450 TTT, 1800 TG

A car completes a journey in 10 hours. If it covers half of the journey at 40 kmph and the remaining half at 60
kmph, the distance covered by car is :

A) 400 km B) 480 km C) 380 km D) 300 km

U% BR 10 92 § U I I Rt 81 A | oTeRt T 40 P} Ui T @Y Y & ok 2w aeht Am 60 e U
PRI L, NPRER A A TE A

A) 400 fopet B) 480 fait C) 380 fasit D) 300 fost

A student goes to school at the rate of % km/hr and reaches 6 minutes late. If he travels at the speed of 3 km/hr
he reaches 10 minutes earlier. The distance of the school is :

A) 45 km B) 20 km C) 10 km D) 4 km |
W@H%Mﬁaaﬁnﬁﬁwm%memaﬁﬁqﬁm%l At g 3 ed/dar IR AT A TE 10 |
fiFTe Ugd Ul 81 Wd 31 gl &

A) 45 fat B) 20 fdt C) 10 fdt D) 4 fat

1979_23 (A) 28



133.

134.

135.

136.

137

138.

139.

140.

141.

What is the least number of square tiles required to pave the floor of a room 15 m 17 cm long and 9 m 2 cm
broad ?

15 Hiex 17 ft @9 3R 9 Hiex 2 it A T TR F BN I 1 & € F7 F F b FNER eFA DI
SIS BRIT?

A) 840 B) 841 C) 820 D) 814

The sum of two numbers is 36 and their HCF and LCM are 3 and 105 respectively. The sum of the reciprocals
of two numbers :

3 sl &1 AN 36 § IR IAPT HETH FHIUGAS AR TYTH GHIUGHS HHT: 3 R 105 7 & GeTsl &
IhHT BT TN EHT:

2 3 4 2

A) = B) = O = 2 ) s

The number of pair of positive integers whose sum is 99 and HCF is 9 is :

YTES qUITeT & gl &t ST, ForeT dnThd 99 AUT HET. 9 &:

A)S B) 2 C)3 D)4

The smallest five digit number which is divisible by 12, 18 and 21 is :

UTe 3T &1 Ya B WA S 12, 18 AR 21 T 7

A) 10080 B) 30256 C) 10224 D) 50321

Three numbers are in the ratio 3 : 4 : 6 and their product is 1944. The largest of these numbers is :
A)6 B) 12 C) 18 D) None of these
G 32 4: 6 F U A § 3R I UHEHT 1944 B 370 V Y9 a1 ST 7

A)6 B) 12 C) 18 D) 378 ¥ $ig 781
X is 36 years old and Y is 16 years. In how many years will X be twice asoldas Y ?

A) 1 year B) 2 years C) 3 years D) 4 years

X B1 3 36 T § AR Y BT g maﬁ%l ﬁmﬁa@fﬁxﬁ&n{{vﬁaﬁm

A) 19 B) 2 914 C) 39 D) 4 911

A man walking at 3 km/hr crosses a square field diagonally in 2 minutes. The area of the field is :

w&mﬁaﬁmaﬁnﬁ%m@wmmaﬁmzﬁ%ﬁmm%ﬁmm CERTEE
A) 2500 m? B) 3000 m? C) 5000 m? D) 6000 m?

In a mixture of 60 L the ratio of acid and water is 2 : 1. If the ratio of acid and water is to be 1 : 2 then the
amount of water to be added to the mixture is :

60 TR & T FAiyor & 3 3R U T 3T 2 : 1 81 Afe 3t SR U BT U 1 : 2 FRAT 7Y o o A iR
feramT urit STl ST
A) 55 B) 60 C) 50 D) 45

A bicycle wheel makes 5000 revolutions in moving 11km. Then the radius of the wheel is :

A) 70 cm B)35cm C)17.5 e D) 140 cm
T GiEfbel &1 ufear 11 bt gem § 5000 T @mar 81 &t IR & B &
A) 70 Tt B) 35 9t C) 17.5 94t D) 140 9wt

1979_23 (A) 29



142.

143.

144.

145.

146.

147.

148.

149.

A man invested Rs. 4455 in Rs. 10 shares quoted at Rs. 8.25. If the rate of dividend be 6%, his annual incon
18 :

A) Rs. 267.30 B) Rs. 327.80 C) Rs. 324 D) Rs. 103.70

U SMEHT A 10 390 & FaR W 4455 FU F3w e e} #iaa 8.25 SU0 7 7 ot afe e @ o 6%
al Su@! At 3 &

A) 267.30 U8 B) 327.80 30 C) 324 308 D) 103.70 ¥4

The angle between the minute hand and the hour hand of a clock when the time is 4.20, is :

% UST H oa G 4.20 BT 3 o e 31 g8 iR R B g S S T pvr B &
A) 0° B) 10° C)5° D) 20°

The solution of 2x+3y=2 and 3x+2y=2 can be represented by a point in the co-ordinate plane in :
A) 1* quadrant B) 2™ guadrant C) 3™ quadrant D) 4™ quadrant
2x+3y=2 ¥R 3x+2y=2 & HIYH H! b & Goae 7 wo g gRT axifar of o ¢

A) Uge Iguf B) GERT Iqufw C) dier agyi D) T Tt

If the 4" and 9" terms of a G.P. be 54 and 13122 respectively, then its 2™ term is :
3 foreft 1o Aoft 71 4 o7 3R 9 91 Ug FHW: 54 AR 131228, A I ERITE &
A)6 B) 12 C) 18 D)9

The angle of elevation of a ladder leaning against a wall is 60° and the foot of the ladder is 7.5m away from th
wall. The length of the ladder is :

A)15m B) 14.86 m C) 15.64 m D) 15.8m
T AR § @ A 1 I $107 60° 7 3R W 1 e R flar A 7.5 ® 2 A A o 2
A) 15 Hiex B) 14.86 Hiex C) 15.64 Hiex D) 15.8 Hiex

The value of k for which the lines 2x+ky+7=0 and 27x-18y+25=0 are perpendicular to each other, is :
K &1 T8 A foreh g 31 2x+ky+7=0 3R 27x-18y+25=0 TF TW F daad &
A)k=-1 B)k=2 COk=3 D)k=-2

There are some pigeons and sheep in a grazing field. The no. of total heads are 60 and total legs are 16
including both pigeons and sheep. The no. of sheep is

wagmﬂwmmﬂgglmmm%m’waz1samaﬁarqmawsaﬁmma%. I3 7
&1 &
A) 18 B) 26 C) 24 D) 36

A man and a woman together fill a tank with water. The man pours 4 litres of water every 3 minutes and th
woman pours 3 litres of water every 4 minutes. How much time will it take to fill 200 litres of water in th
tank?

A) 1 hrs. 12 min B) 1 hrs. 24 min C) 1 hrs. 36 min D) 1 hrs. 48 min

T HTEHT 3R TP MR fiera U 2ot 1 Ut @ 2Ra )1 3wt &% 3 e & 4 fiex ot S1aar @ ok aiRa R -
fore & 3 diiex urt Sterdt 31 €t & 200 dex ol 4R F R wwg @

A) 149112 e B) 1 9e1 24 e C) 1492136 e D) 1 4cT 48 fiFe
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150.

A tap having diameter ‘d ‘ can empty a tank in 40 minutes. How long another tap having diameter ‘2d’ takes to
empty the same tank ?

A) 5 minutes B) 20 minutes C) 10 minutes D) 40 minutes

' IR B TS el P ¢ B 40 e  Wieh R w1 ¢1 W 2d A U A S &P B WAl BRA H
foe wHa A

A) 5 e B) 20 e C) 10 & e D) 40 fiFe

Directions for Question Nos 151 to 155 :

Study the following table carefully and answer the questions that follow Number of Cars (In Thousands) of
Different Models and Colours Sold in Two Metro Cities in a Year

s . 151 FW.155):

151.

152.

e et o1 S T R AR I a1 o AT v & IR 31 o o 3 3 A W
R ateal ol il 1 A T Y 9 v @Y )

Type | Metro M Metro H
Colour Colour
Black | Red | Blue | White | Silver | Black | Red Blue | White | Silver
A 40 25 55 15 15 45 32 40 60 20
B 20 35 60 50 20 30 37 39 81 35
i 35 30 50 90 35 40 42 4] 86 a7
D 45 40 45 85 40 35 39 37 90 42
E 50 -|35 35 60 30 50 42 43 77 22
F 55 42 40 75 52 47 34 45 87 17

The total number of silver coloured cars sold in Metro H is approximately what percentage to that of Metro M?
| Hﬁﬁﬁﬁﬁ?iﬂﬁﬂﬂ?ﬁﬁﬁ@[ﬂ@Mﬁﬁﬂﬁﬁﬁﬁiwﬁﬁﬁm%
A) 130 % B) 140 % C)90 % D) 100 %

What is the difference between the blue colour cars of model C sold in Metro M and number of red colour cars
of model F sold in Metro H ?

2 M 30 7 Aied ¢ B A T BRI AR AG H ¥ ¥ w wiied F 3 A T P BRI B GO & di b
AR &7

A) 8000 B) 10000 C) 12000 D) None of these
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153.

154.

155.

In Metro M, the number of cars sold was maximum for which of the colour — model combinations ?

A) White — C B) Blue-B C) Silver-B D) White - D
B M H, 5 TS BRI Bt T 5 3 - Aisw gaeH & Rig s oy
A)T%e - C B) a8 C) R -8 D) 9%% - D

The total number of blue coloured cars of models E and D sold in Metro H is exactly equal to the number o
white coloured cars of which model in Metro M ?

A)B C)C D) None of these

S H & 9 U ATsH E a?r\r D%imﬁwaﬁam‘raﬂwmﬁg’r M ¥ fg Aisa @t e 1 31 RI #t G=11d
W B2

A)B B)F C)C D) §7 4 $1E el

The difference between the white coloured cars sold in the two metros of which of the following models is the
minimum ?

D) None of these
ﬁaﬁf@aﬁ%aﬁfﬁaﬁﬁmm%ﬁﬁmmmaﬁmﬂ%dﬁmw%?
A)A B)C C)D D) 379 A $IE T

Directions for Question Nos 156 to 160 :

156.

Study the table given below and answer the questions that follow : Number of Students from various school:
playing various games

(9. 156 ¥ W. 160):

2 § 7% TS 1 SremaT BY SR IWS Ag oM AT WAl F IR 3 Rifty At B Ju I ffie
Hdl & BHEl B HEST

Games Schools
A B e D E

Football 125 250 100 175 250
Basket 175 200 195 245 225
ball

Cricket 250 200 225 215 200
Tennis 240 210 200 130 165
Badminton | 75 125 35 45 100

If 20% of the students playing football from school A also play Badminton, what should be the total number of
students playing Badminton from School A ?

e A A ¥ Pesla Ge el 20% B Ssfied off e §, df 15 A ¥ Sefiied Fad a0 Bl 3t pu we
forat gt =mfew?

A) 110 B) 120 C)95 D) 100
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157.

158.

159.

160.

The number of students playing Basket ball from school C is approximately what percent of the students

playing basket ball from school E ?
Wd C ¥ §Rde did Waq ard S I ST, ¥pd E 9 IRDbeaid Wa- ard Sl $1 G8A1 &1 eRTH fan ufa=a

2

A) 75% B) 87% C) 94% D) 70%

What is the difference between the average number of students playing cricket from all the schools and the
average number of students playing tennis from all the schools ?

Wi el & e Ao T BE1 21 Sa TEm IR Wi wpe & 2R Fe I oEt B dua wen b e @t
3R T R?

A) 31 B) 26 C) 29 : D) 33

The number of students playing football from school D is what percent of the total number of students playing
all the given games from the same school ? (rounded off to 2 digits after decimal)

A) 20.61 B) 21.59 C) 22.60 D) None of these

W D 9§ Geaid @a ard Sl 31 981 39 Wpd 4 AU U wH @t 3 @an a1 B 31 $o & T [
Ta=Td 87 E¥ITd & 916 2 3! b quiifcha)

A) 20.61 B) 21.59 C) 22.60 D)SH A AL

What is the difference between the average number of students playing all the given games from school B and
the number of students playing badminton from that school ?

160. Tp B ¥ AU MU Mt T Tem ad BET B iR TE IR I Wa | Ssfiie e ard onl 3 I'n &
d $T IR AT &2

A) 72 B) 65 C)78 D) 69
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PART D : General Knowledge
1T D : 9 A A

161.

162.

163.

164.

165.

166.

167.

168.

Which Indian state is known as the "Land of Five Rivers"?

A) Punjab B) Kerala C) Gujarat D) Bihar

e uRdt 0 ® uiw T Bt yftr F w9 F o o e

A) USTE B) &d C) ToRTd D) fagR
Kaziranga National Park is famous for

A) Asiatic Lion B) Black Buck C) One Horned Rhinoceros D) Red Panda
FISRT I§TT 39 fhus R g ©

A) TRAE TR B) ®% 95 C) T i gra e D) @I ieT
Which Indian state is known as the "God's Own Country"?

A) Tamil Nadu B) Kerala C) Goa D) Karnataka
fp g HRlla I5T B "I BT 3O S FHRT ST 27

A) afterg B) 3@ C) Tiat D) $fes
What is the name of India's first satellite?

A) Aryabhata B) Chandrayaan-1 C) Mangalyaan D) INSAT-1B
YR & TYH ITIE BT 71 TH 82

A) smfug B) ¥ -1 C) TTeaE D) §9c-14t
Which river is known as the “Sorrow of Bihar”?

A) Ganga B) Yamuna C) Brahmaputra D) Kosi

e 7t 3 fagR &1 <" el S 87

A) T B) AT C) SR D) St
Which state has largest coastline in India

A) Gujarat B) Maharashtra C) Andhra Pradesh D) Tamil Nadu
HRd # fbd 9 Bt de 3@T Jad el 27

A) ToRTT B) HERTY C) 3y W= D) g
Which animal is known for its ability to change its color to blend into its surrounding

A) Chameleon B) Platypus C) Kangaroo D) Sloth

DI I SR AT O T BT &l & Ry ST ST 2 b 98 319 uRkaw a3 @1 6%

A) firfie B) Wfeuy C) HRE D) Wity

In what year did the united states declare its independence from Great Britain

Yo g 3AfeT 7 fobg 9 e foea @ ¥GIAdT Y GIyoT B

A) 1776 B) 1783 C) 1812 D) 1861
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169. Which state in India is known as the “Land of the Rising Sun”?

A) Assam B) Arunachal Pradesh = C) Meghalaya D) Manipur
YR P b T ) I Gl 1 YAy F A1 Y S Al 87
A) 39Y B) 3BUMEd Wl C) Tererg D) AR
170. Who was the first Indian to receive a Noble Prize?
A) Rabindra Nath Tagore B) CV Raman C) Amartya Sen D) Mother Teresa
e TRER TH IS TYH YR SH 2
A) g 91 IR B) idt A C) 3\ T4 D) HeR x|l
171. Ksheer Bhagya Scheme is implemented in which state?
A) Gujarat B) Karnataka C) Odisha D) West Bengal
&R v T e T B A B2
A) TR B) HHlc® C) fifg=m D) Uf¥m s
172. Which country, has taken over of the Presidency of the Council of the European Union for the first six months
of 20237
A) Finland B) Sweden C) Itlay D) Germany
fre 321 2023 ¥ UES B HEHI Ry AR WU Y Ul BT sfemear W &7
A) fhais B) Wed C) geat D) SHAt
173. Which institution operates the ‘DRDO Industry Academia- Ramanujan Centre of Excellence’?
A) NIT Warangal B) IIT Madras C) IIT Bombay D) [ISc Bengaluru
P @ R SRS I SfepTeHl- AT ISPl By T B 87
A) TS T B) 3ME3(ES! HE C) AEEeana D) HTEHETTHTTIE

174. Which institution has authorized six fintech entities to test their products under regulatory sandbox scheme?
A) NITI Aayog B) RBI C) SEBI D) NSE
ﬁuwﬁmﬂam%mmw%ﬁﬁﬂ%wﬁﬁmw@fﬁwwmﬁmm
feram &7

A) Hfa amdm B) 3Ref3MS C) ¥t D) TUES
175. Which city is the host of the ‘International Craft Summit’ in India?
A) Varanasi B) Jaipur C) Pune D) Mysuru
URa F 3feRiPH Riea RieR Fie &1 AsaH S 61 R 87
A) TRIORH B) SR C) qot D) I’
176. After China, which is the second country in the world to start the ‘trade — plus — one’ (T+1) settlement cycle?
A) USA B) Russia C) India D) France
¥ T, VT - WY - I (T+1) THIHNG b L& B a1l g1 BT ORI 4 HH 1 57
A) gUHT B) ¥4 C) MRd D) %Y

177. On 74" Republic Day of India which country’s military contingent participated in the parade?

A) UAE B) Egypt C) Bangladesh D) Singapore\
YRA & 749 oI feaq R by 3w Y {0 gl A wes H wm feran ume
A) g% B) firg C) Siree D) QR
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178.

179.

180.

Which country announced to increase retirement age from 62 to 64 by 2030?

A) Canada B) Japan C) France D) Sri Lanka
8 219 2030 7 JaIFrR F1 omg 62 Y TR 64 H B Guy 1 22

A) FHTET B) SUH C) wig D) S
Which state is the host of the “Think — 20’ meeting held under G20?

A) Gujarat B) Madhya Pradesh C) Jharkhand D) Chhattisgarh
Gﬁ-zo%mhanﬁmﬁa-zo'mmﬂamaﬂﬂ-mm%?

A) ToRTG B) 97 7N C) IRES D) ST
Which state adopted a bill to make its language compulsory for state government jobs?

A) Maharashtra B) Karnataka C) Tamil Nadu D) Kerala

9 X5 3 307 50 B Rt ARt 3 Ry srg wqry Sifard §91 & o wes fadass sgeman
A) TRy B) ®lc® C) dffrarg D) &
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PART E: Computer Knowledge

81T E: e A

181.

182.

183.

184.

185.

186.

187.

Which one of the following electromagnetic spectrum ranges is mainly used to transmit Wi-Max signal ?

A) 0.5 to 2 GHz B)2t03.5 GHz C) 4 to 5.5 GHz D) 6 to 7.5 GHz
Frofifad ¥ @ 17 w1 figga geea quley Joft ger w0 § aE-Aag Ydhd Juid $3 & R7e Sugn 3t o 82
A) 0.5 ¥ 2GHz B) 2 ¥ 3.5GHz C) 4 ¥ 5.5GHz D) 6 ¥ 7.5GHz

Which of the following inputs a computer’s memory, but unlike a virus, it does not replicate itself ?

A) trojan horse B) Logic bomb C) Cracker D) Firewall

Frafifd 3 & o1 e #1 46N &1 $9e S &, A 1o AR & R, 7% ge 1 v T8 s 82
A) g g1 " B) Wiford &9 C) FaR D) WRRarE

Size of virtual memory depends on :

A) Address lines B) Data base C) Disc space D) All of these

Y3 A BT ATHR R T &

A) USH @A B) 8199 c) fe= @y D) T qoft

The computer grid is :

A) a hardware component of the computer

B) a software inner structure in which a number of calculative systems are attached
C) a primitive prototype of the super computer

D) a hardware component of long hydron assembly for the nuclear research

TR s wE:

A) TR BT T TSR Yot

B) U& WIUeatR Miaie a1 forad 3 TuMTes yunfera 9ot g5 &

C) YR $YLR &I T 3TieH UicIersy

D) URHIY] SFHYH & fog deft g sriaeh &1 U grsaaR el

The system which transforms the data into impulses and these impulses are sent from a terminal to a computer
and from a computer to a terminal in a compressed way is called :

A) Magnetic disc B) Micro computer C) Cd-Rom D) Modem

I8 VIR &1 STl © ol el B AT § yRafdd Hdt 8 iR 37 3137 &) U efifel | 1P YR W IR &
FULR W UH T B U FRfEd i | N Sl &

A) Tifew e B) HIS®H! HELR C) HE-3m D) T3H

Which one of the following is not the component of a computer ?

A) Input unit B)ICPU C) External Memory Unit D) Internal Memory Unit
Fafafea & € a1 FraeR &1 e ffw e 87

A) $9c gfe B) g C) Ue-d IERt gfie D) $e3d BaR gfie
Usually the memory of a computer is expressed in kilobyte or megabyte. 1 byte is made of

A) 8 binary digits B) 2 binary digits C) 8 decimal digits D) All of the above
HHER R SR 31 AAR fbaiage a1 Ameme & oed & oid 81 1 S15¢ s 941 87

A) 8 I fsfore B) 2 I3 1I f3fore C) 8 4w fefore D) Sudad T+t
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188.

189.

190.

191.

192.

193.

194.

195.

The WAN is the acronym of :

A) Wide Area Network B) World Annual Network

C) Web Area Network D) World Area Network

SYUTT (WAN) et St & &

A) T3S TRar Jead B) 3¢S T93fd Yead

5, aatrﬁfmfrea%_ D) 9% T Aead

The most popular search engine Google was invented by :

A) Larry Page & Sergey Brin B) Robert E.Kahn

C) Sergey Brin D) Vint Cerf

i i 9 5 e @ SMISPR e grT fsam mam o

A) 0 oiR Tl g B) e M

C) ¥Fs fom D) fde g

Which of the following is not the most common web browser ?

A) Opera B) Firefox C) Linux D) Safari
a3 8 B o1 9 o 39 s T8 2

A) 3RT B) BTRbIa C) ey D) 9BRt
Which key should be pressed to start a new paragraph in MS-Word?

A) Down Cursor Key B) Enter Key C) Shift + Enter D) Ctrl + Enter
m—ﬁﬁwmwm%mﬁaﬁaﬂmm

A) ST37 IR # B) Gex &} C) Rige + tex D) $gid + Uer
Thesaurus tool in MS Word is used for

A) Spelling suggestions B) Synonyms and Antonyms words

C) Grammar checking D) All of these

U4 U 35 H R 2ot &1 skt by o 2

A) R g9 ¥ R B) wigarEt $iR el wsg % firg

C) 1R 917 & frg D) sA 94t ¥ forw

Which menu in MS-Word can be used to change character size and typeface?

A) View B) Tools C) Format D) Data
THE-3E & o 37 1 ST $¥ee T mmﬁmﬁﬁﬁq%mmm%

AT B) T&d C) Wi D) SeT

Which of the following is not a special program in MS-office?

A) Office Art B) Clip Art C) Word Art D) Paint Art
m@aﬁ%ﬁ#mw—&mﬁwmﬂm#ﬁ?

A) 3itg 3 B) faay o C) 38 3 D) T 3
Table in word is a grid of rows and columns, with each cell can have

A) Text or graphics B) Only text C) Only graphics D) Both B and C
Héﬁéﬁﬁﬁx’:ﬁ?ﬁ?mﬁﬂ@%%, fore v 9t & & B W 2

A) TR 1 Tty B) $9d e C) &9d Tifthay D) B 3R ¢ gt
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196.

197.

198.

199.

200.

Where can you find the Draw table tool button?

A) Formatting toolbar B) Drawing toolbar

C) Standard toolbar D) Tables and Formatting toolbar

MY g1 29 T §e- Hal B Jbd 87

A) BT TAER B) g3 TOER

C) RUSS ToaR D) & 3R WA gaaR

You need to jump to the next column breaking current right at the cursor position. How can you break column?
A) Break command from Insert menu B) Pressing Ctrl+ Enter

C) Pressing Alt + Shift + Enter D) Both B and C

3D HI B U F P e Bl dsd U AT HIaH | &1 8| U Hiad $4 dis o &7
A) 3 O ¥ 8% BHIS B) Ctrl + Enter GaTR

C) Alt + Shift + Enter GaTHY D) B 3R C gHIf

A worksheet is made of columns and row, wherein :

A) Columns run horizontally and row run vertically

B) Columns run vertically and rows run horizontally

C) The run is dependent on the application being used

D) Both B and C

T ghIIe Hiad AR I F & gt 8, Ford:

A) Biad &fael Fedl § AR 3 dead Tadl §

B) ST dead Iadl 8 3R I Sfer e §

C) dead a1 &fas TaT ST fb o 7@ TRipTe R AR aar s

D) GHI B 3R C

For opening and closing of a file in Excel, you can use which bar?

A) Formatting B) Standard - C) Title D) Formatting or Title
TeT H bt BIsel 31 @i 3R 9 R & 7T 3410 fohd IR 7 i 2 Fobal 27

A) BrHfeT B) USE C) TZed D) BT O eged
Which of the following syntax is correct regarding to sum function in Excel ?

A) =SUM(A1,B1) B) =SUM(A1:B9) C) =SUM(A1:A9,B1:B9) D) All of these

Ued # 99 e & ey H FafifEa & § o9 a1 Ridew w8 @7

A) =SUM(A1,B1) B) =SUM(A1:B9) C) =SUM(A1:A9,B1:B9) D) & ot
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ROUGH WORK
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